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(1) \EHEHK H=1. 5m [ |m% [2 51

1 K472 21.6 (kg/m) X 1.5 (m) = (k g)
W= (m) +~ 0.333 (w/#) X | X (t) = (t)
(2) @EHZHK H=-2. om [ |m% [2 51
1#4720 21.6  (kg/m) X 2.0 (m) = (k g)
W= (m) +~ 0.333 (w/#) X | X (t) = (t)
(3) EHHZEHK H=2. 5m | _30.00|m%> [ 2 ]I
1#4720 21.6  (kg/m) X 2.5 (m) = (k g)
W= 30 (m) = 0.333 (m/#) X 2 A X (t) = (t)
(4) BEMAHK H=3. om [ |m%p [2 51
1#4720 21.6  (kg/m) X 3.0 (m) = (k g)
W= (m) +~ 0.333 (w/#) X | X (t) = (t)
(5) @EMHZHK H=-3. 5m [ |m% [2 51
1#4720 21.6  (kg/m) X 3.5 (m) = (k g)
W= (m) +~ 0.333 (w/#) X | X (t) = (t)
(6) #EMHZHK H=4. om [ |m% [2 51
184720 21.6  (kg/m) X 4.0 (m) = (k g)
W= (m) +~ 0.333 (w/#) X | X (t) = (t)
& F — (t)

< KEDFEFE > 30.0 (m) = 4 (m/A&) x 2 @) X 2 (B = 30 (&)
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HLH 1 HY Y EEl=
F= 9.7 (t)
(4) H=3. Om

HEH H %=

HA1 Y Y &=
F= (t)
(5) H=3. 5m
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F= (t)
(6) H=4. Om

HLH H %=

HA1 Y Y &=
F= (t)
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W= (t) WEM: 1./2%X (n+1)
i P S = % (ja) = 1.00
1HE Y Y OIEIE & OREEY = (M, t)
(H)  + (t) X 100 xX[___ @/ t) = ()
W= (t) MIEME: 1./2%X (n+1)
o IS = % () = 1.00
1H% Y OERE R OEEEE - (M, t)
(R) -+ (t) x 100 X[ @M/ t) = ()
W= 9.7 (t) WEM: 1./2%X (n+1)
i P S = % (ja) = 1.00
1HE Y Y OEIE & OREEY = (M, t)
(m)  + 9.7 () x 100 x[__ ]/ t) = ()
W= (t) MM : 1./2%X (n+1)
o IS = % () = 1.00
1HY% 0 OERE R OEEEY - (M, t)
(R) -+ (t) x 100 X[ @M/ t) = ()
W= (t) WEM: 1./2%X (n+1)
o P g = % (ja) = 1.00
1HE Y Y OIEIE & OREEY = (M, t)
(H)  + (t) X 100 xX[___ @/ t) = ()
W= (t) MM : 1./2%X (n+1)
o IS = % () = 1.00
1EY% Y OERE R OEEEY - (M, t)
()  + (t) X 1.00 M t) = (1)
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. (1 B %)
LR LIA (5) 50506 7oL BEE L (/A « /) X = 4.0m X 2A& X 1B X H = H
AKERA AR — K (H/A& -« H) x - 4.0m X 2A X 1B X H = !
KIER T (H/%& - 1) X H = H
| | + - (1) = M
. (2 B %)
LR LIA (5) 50506 7w BREHRE L (H/A&-H) X 30.0 =+ 40m X 2A&K X 2FX H = M
KEXV R — k (/4 H) X 30.0 =+ 4.0m X 24/ X 28X H = H
KIER T (H/%& - 1) X H = H
| | + - (1) = M
. (3 B %)
LR LIA (5) 50506 7L B L (H/4 -+ B) X = 4.0m X 24 X  3BEX H M
KEXYR— (M/A - A) % = 4.0m X 24 X 3EX H H
KIER 7 (H/%& - 1) X H = H
| | + - (M) = !
. 7 I B L (F/4) X 30 (K) = M
£ * B ﬂ KIERY A — b (M/A) X 30 ) = H
KER T (/&) X 1 (B) = M
P + + m =] H
X BB F + + (1) = E
S M
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EREHRRER 2.5 m ZREBEK 2 B
T CCONNEEDIES Gl I v o
(1) H A1 530.73  m3 m3/ H g | AEEREBLERLE
2 _P. 156
S 1fm_P. 45
(3) AR 202.8 m m/ H g | AEEEEBLERTE
S 1fm_P. 48
(4) |##imocpoas0)|  293.4 m m/ H g | AEEREEELHROCE
T S 1#m_P. 50
AR
© | oy | 1519 w8 m3/ 1 A | P s
(6) AR 292.8 m m/ Fl g | AEFRER LSRR
S 1fm_P. 48
(7) TR 292.8 m m/ H g | AEERERLERLE
S 1fm_P. 45
(8) HR T 293.56  m3 m3/ F g | AEFEREBLERLE
2w _P. 158
®-2|  #EED 293.56  m3 m3/ F | AR ERT LR
27 _P. 159
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